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Class: 11 COMPUTER SCIENCE Marks : 50
Section A/LUGS) - 3

Answer all the questions ./ 3|60 60TS S 6] 60T T8 & (615 & (5 LD
eflenL weflssa|n. 10x2=20

1. What is computer?
seuorllGurnl eTeiTmTe0 6T60T6UT ?

2. Which source is used to erase the content of a EPROM?
EPROM- 2_61T6 SJ6me 6T6LEUTM) cougﬁ]lllurru] ?

3. What are the different Operating Systems used in computer?
seufLGLTHluled LwaTUGSSUILGLD QeI QuIsSE gmLlLserT
wimemew ?

4. How will you Rename a File?

(1 Gamlienu eTaleumml LNGQLWITGHeST ST ?

5. How is state represented in algorithms?

Qi yenmullet Hlemevenw sreaieumy GMHILI(HISleTms) ?

6. How to refine a statement?

(5 SnMn)l eTaleuTn) Go@mCanmin@sSlng ?

/. Define LOOP variant
oL &G LrmmbledlufleT aimmwmissea|L.

8. What are Keywords? Can keywords be used as identifiers?
FmlyFQaTmaar eTermmed stevteor? FMUFQaFThaemear
SOLGUWTSeTTE  LweTU(H\SS6e0mLoN ?

9. Define Functions.

CEwme. miSEaT - aImITWmM

10. what is a base class?

IligLILIGNL [@)60TEH(G)(LY 6TEITMT6D 6T60T60T ?

Section B/LIGS® - o4,

Answer all the questions ./ 3| 606015 Sl 6131 60T IT& &5 (615 &5 (& LD
aflen L wWerfl&&Ea]lD. 5x3=15

1. Convert (150),¢ into Binary, then convert that binary number to
Octal.

(150): & Blanmer @\ mblenev sTeviTenormas LM, 2SHemeur
6T6utT6mTl6m6 6TEUITEUUTIT S, LOMMM)Sh

2. Differentiate PROM and EPROM?
PROM wmmith EPROM GCoumiu(h&s15.
3. Write the two ways to create a new folder.



@, CamlLmIm 2 TG @Teni(h aufl(LpamnasemsT TLgIs.
4. What is case analysis?
Case LGLILMI®| 6T6OTMT6D 6T6UT6DT ?
5. What is default arguments? Give example.
evraflemeuii GEFwawLILGSS6T eTeiTmmed 6T6uTenT ? T(HSGISHSTL (B
&(HS.

Section C /LGS - B)

Answer all the questions /9|60 6018 81 6\ 60T IT5 & (615 & (& LD
allem L werfl& & LD. 3x5=15

1. Discuss the various generation of computers.
sewTiGLTNuilest LGN SemepemMEET 66T ES:.

2. Explain the types of ROM.
ROM et suemasemer(i U ellemsaL0rs 6TL)s)s.

3. Write a C++ program to find the LCM and GCD of two numbers.
LCM wpmid GCD Gurermeumenm Severs&l(heugnasmer Hlirssemer
6T(DSIS.
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